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ANALYSIS:


Find the Acceleration





Divide the ______________ by the ______________ to find ______________.  (round to 1 place)








Find the ______________ of all the ______________.   (round to 1 place)





--Weight v. Mass—








DATA:


Mass


Find the _________________ of the various objects and 


____________ in your data sheet.


Convert into kg.


(Keep all places)


Weight


Hook the spring scale to the ring stand and _________________ _________________ if needed.


Hang each object from the scale and record the _____________________.


Use the 2.5 N scale whenever possible.  If the weight is over 2.5 N then use the 5N scale.








Materials:
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Lab Safety:  
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Find the mass and weight:








Weight





in Kg





Acceleration











2.0





Average


Acceleration














8. Sand-  Large





Mass





7. Sand- Small

















6. Green Lego





4. Hooked Block





3. Ringed Block





2. Lead Weight








1. Washer





5. Red Lego











ANALYSIS:


Find the Acceleration





Divide the WEIGHT by the MASS to find ACCELERATION.


(round to 1 place)





Find the AVERAGE of all the accelerations.


(round to 1 place)





Conclusion:


What did we do in this lab?


What was your average acceleration, and how close was it to 9.8m/s2?


Explain why is this graph linear?


Why are the accelerations close to but not all equal to 9.8m/s2?


If we were on a different planet, where the acceleration from gravity is different, what would that do to the masses and weights?

















Mass by 10 g





Weight by 0.2 N





Conclusion:


What did we do in this lab?


What was your average acceleration, and how close was it to 9.8m/s2?


Why are the accelerations not all equal to 9.8m/s2?


If we were on a different planet, where the acceleration from gravity is different, what would that do to the masses and weights?


In your own words, describe why we use newtons to describe weight.





g / 1000 = kg





Average 





m/s2











Acceleration





8. Sand-  Large





7. Sand- Small











Weight





N





g :








kg





6. Green Lego





Purpose:  





4. Hooked Block





3. Ringed Block





2. Lead Weight





1. Washer





5. Red Lego





Object:





--Weight v. Mass--





Graph each point of (Mass, Weight)


Connect the dots.  Include (0,0) as a point





DATA:





Mass





Find the mass of the various objects and record in your data sheet.


Convert into kg. (Divide by 1000) 


(Keep all places)





Weight





Hook the spring scale to the ring stand and adjust to zero if needed.


Hang each object from the scale and record the weight in newtons.


Use the 2.5 N scale whenever possible.  If the weight is over 2.5 N then use the 5N scale.








Materials:





Triple Beam Balance			Spring Scale


Objects to measure			Ring Stand 








�





Lab Safety:  


The balance is fragile





Mass in g





Purpose:  Determine the relationship between MASS and WEIGHT.





--Weight v. Mass--








